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1. Find a root of the following equations using the Bisection method correct to two places
of decimal

(i) x°-9x+1=0 (i) x®-x-11=0
(i) 2°-18=0 (iv) 2°+x=1

(v) 2°-3x-5=0 (i) s%-2t-2*-1=0
(vii) % -5x+1=0.

2. Find a real root of x° — x = 1 lying between 1 and 2 by Bisection method. Compute five
iteration.

3. Obtain a root, correct to three decimal places for each of equations using Bisection
method :

1) x+x%+x+7=0 ) x3-18=0
(i) 2°-5x+3=0 (iv) ¥®-x-4=0.
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Find a positive root of the equation xe* = 1 which lies between 0 and 1 by Bisectio,
method.

. Compute real root of the equation 3x + sinx -¢' =0 in a given interval, by Bisectiop

Method.

. Find a real root of ¢* = 3x by Bisection method.

. Use Bisection method to find out the positive square root of 30 correct to four decima]

places.

. Apply Bisection method to find a root of the equation x* + 2¢° -x - 1 =0 in the interva|

[0, 1J.

. Transcendental equation is given as f(x) = 2" - x - 3.

Calculate fix) for x=-4,-3,-2,-1,0, 1, 2, 3,4 and compute the intervals between |

1.G) 294 (ii) 2-38 (iii) 2-62 (iv) 0-75
(v) 227 (vi) 140 (vii) 0-201.
2. 1.324
3.(1) 0552 (ii) 2-621 (iii) 0-657, 1-834 (iv) 1-796
4. 0-567143 5.0-3604 6. 15121375 7.54771
8. 0-8667605
9.
" 4] —3 ] —2] -1 o 1 | 2 | 3 | 4
fi) |:11.0625/00125|-075| -15 | -2 | -2 | -1 9 9
Root lies in (- 3, - 2) and (2, 3).

which the roots are lying.
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